DR BEOTONEG -§ Somd
§0e30 v @Rl et euign
500D (29@m13) ¢l O® e s (2:80)-2023 (0 BBedn)
2017 ¢4B/4E
@dd odme -PMAT E 1035 (o9©m)
S8 omme 1
ads wemd (06) o®wms BERS; euwsim

aies e30@100 08 (08) 8 e300 wmdd (04) oo oo n:»ad (03)

01.Awo B om R 8 ewnded subestn conem vcmsd wB oR8,
a. sup AwsinfA ¢8detDste

b. s cleds R 8 ouf df A comeme ewem sup A oo inf A ewestis

i A= TneN oon>2)

né4n-1

i, A:f“wneN}

n+l

¢. CcomemeC=A+B={a+b:a€A4 b€ B} s82 a8 crled.
i supC = sup A + sup B 98 endme mosis.

ii. A={geQle<g<mlwwB ={xecR|x?<n}mnd®
@eWBBID.



02.
a) amn@wm B&red g8l ¢Ed® widnews],

im —— = 1 88 wdme WosTs.
n —oon+1

b) (@ ne=1 60y00®, 4y = 2w N = 1 wew ayyq = %(an +6) @85
286 crded.

O GOHVHG DISHEWS,
i 1<a, <6205
i, (ay)ney @z w00 O18edn ampdensl 05
@I,
i, (@)ne; emy@®w 6 O Bl O DO edmew mOsTm.

03.
a) 1R — R wemab §oosd ev a € RwBcoR@. lim f(x) =
X —a

[ estemyst gowd Drtest n®ded caitsis.

2_
b) 8C® HEOE® widnews? lim 71 = 2 99 eodme s,

x -0 x—1

¢) f,g o h oy on Omm Deo® R 0 50dm 8w o v il
oBE.8uE x € R e
f(x) < gx) <h(x) & lim f(x) = 139D sndmw
X —=a

2 (1)
OB, @® ;P chl_l’% x“ sin (x) 0 28 custdsin

d) som 50 el B f §me x = 3 8 asinBwmel Hoewms mosim.

2x% —~5x —3 ;
f)={"x—3 + *7
6, x=3




04.
a) eddfed yeduw yme DosT5.

b) ®dsem gow yedww ymIn mIxTD.

¢) X3 +x+1=0edndemsd o mddn eon! a®ems & O
eusidsis.

d) zuom ¢uaedn O O B 008 5@ eerwsis.

i lim 2%
x -1 x—1
i, lim x®
X 00
05.
a) y = x? —-;—ln(x) Omead X =180 x =3 s § Do emndend s
©e3 5T D).

b) R vz y =2x? — x® dpewysty = 0 edthedms vlusinon eseces 8.
I R oesew ¢g Godundist aldsts.

II. R oesecsy— qules 801 3600 Hsf s8ydemw »c ewsl dmme Do wmaed
5810, BEETOGIMC MBI BHOwW vadnews? ewawesTm,

III. R esew x —gwew 0 3600 827 s8yemu mE 0w dmme D5 65 ed
88@0 gmmamws gnmceen! ¢ds? ewiwsT.



06. swm gteds Ot & Bddn amwcees? gonsis
1
(0 foz xV1 —4x? dx

(ii) fog(Z —sin8)% d@
(i) [ tan~'x dx

07.
a) sum aEleds O O gdnEy edmoe D>,

dy _ 6x2

()

dx 2y+cosy

(i)  (xy+y?+x¥dx—x?dy =0

b) (2xy —sec?x)dx + (x? + 2y) dy = 0 ¢dmc «8msme 838 90
@it Ow Swesim.

08.50m efedm O & gdmem edmien Bwersin.

. dy A 2
{. — — =Y =X"C0OS X
dx xy
. 2dy _
i, x“—+xy=1
dx + Y
dy 5 3
. ——5y=-x
dx y A Y



